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1. INTEGREX 100Y/INTEGREX 100SY
| B B of INTEGREX 100Y INTEGREX 100SY
Froub A X inch 6 gi ; ig; S
BRAALY 470 (¢18.50)
FHEE EoRY $290 (911.42)
Y #MIEOREY 470 ~ 4350 ($18.50 ~ ¢13.78)
RENBE | gxmTE mm (inch) 4470 (¢18.50)
T 951 (42) (3%3) g ; i::; ﬁ; Eif)ﬁ(;)@)
BEAMIE 503 (19.76) 727 (28.62)
o | ImE |EmmroeE
EHEGRE (%2) min-! o oo o o270
. B 3. in~t
o1 g | L1 56 coni0 2 6000 mm)
THEEE mm (inch) 061 (92.4)
E—5HH N(25%EDAER ) KW 7.5/5.5
BARRLY N-m (kgf-m) 162 (16.5)
F min™" — 35 ~ 6000
DRE R sec — 3.5 (0 —» 6000 min™)
H2EH | TWEEAR mm (inch) - 52 ($2.0)
E—2HH 1 (25%EDERER) kw — 7.5/3.7
BAMLY N-m (kgf-m) — 78.5 (8)
T—ILREVRLREI R MT No. 4 —
Tl | BER(GT—ILRMYIF— LA B . 400/668/95
Zhwh | F—LREUEL) mm (inch) (15.74/26.25/3.75) -
Bk h N (kgf) 1962 (200) —
B O ATC f 1 REVR LT E
IE v ot (hEdl/EIEE T 8) KM63
HeEHl o 1% _ 20 (3/4)
IBY1X | mEiAaE mm (inch) 432 (1-1/4)
L EEETE (MAX) mm 990 ($3.54) x 200 L (7.87)
EWE | £y R0 21U HL) sec 0.5
E—45H 11(20%ED/ B ) kw 5.5/2.2
wmARLY kgf-m 5
2 LEhEERERE min~ 15 ~ 10000
ISR sec 1.6 (0 — 10000 min-")
X/z 30/33
BEYiERE Y m/min 26
72 — ] 30
3% X 360 (14.25)
- z mm inch) 560 (22) | 785 (30.875)
Y 120 (4.75)
72 — [ 760 (29.875)
H132W6A011J 1-1
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i E B of INTEGREX 100Y INTEGREX 1008y
Y-SRIV ORE L 175 210
EBRAR(GER) kVA 16.2 19.1
ZFDits MPa
I7—IEAR (kgflem?) 0.5 (5)
BIT7—BE L/min (ANR) 400 KLE
DE 1020
e EIM 2500 it 2565 | 3100
wa KR 208 mm 2080
(20 & =
2 HE) = 2323
TAFAR—R m? ER5.2 i 5.31 6.45
BHEE kg 4500 4900
(K1) FrorHEEAARERLBYET,
(%2) FrullckYFIRBHYET,
e e A 5270 min! (B RIZHE)
6" RZEF Y- ---- -+ 6000 min™ (HNA T3, BHHRE)
(%3) £ 1 TEMOBEHEZERENE. TROFrvIDHEETT.
o O-CHS-476
« BBO6

183, B206 FruhDEEITe42 EVET

FEE: AUPAETRIATOLSRELHRBIZRYA T THIBROBENRGLLZL, HIRD
HIEZEAL TS,
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ARA—2#RE (INTEGREX 100SY)
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Fig. 1-7  RFA—S#E(INTEGREX 1008Y)
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